  Making the connection: Integrative exercise 
Part 4: chapters 16–20

1.
The following are the steps of the tactical decision-making model outlined in Chapter 17.


Step 1.
Recognize and define the problem. Sabrina defined the problem as a need to expand the business to offer nursing home care.


Step 2.
Identify alternatives as possible solutions to the problem, and eliminate alternatives that are not feasible. Bernadette, Peter, and Sabrina discussed alternatives by e-mail and found five options. All but the fifth option were eliminated as not feasible. The fifth option was further refined into two alternatives: Basic Care and Lifestyle Care.


Step 3.
Identify the predicted costs and benefits associated with each feasible alternative. Eliminate the costs and benefits that are not relevant to the decision. Bernadette presented costs of the Basic Care and Lifestyle Care alternatives. Peter presented the expected revenues for three types of patients.


Step 4.
Compare the relevant costs and benefits for each alternative, and relate each alternative to the overall strategic goals of the firm and other important qualitative factors. This remains to be done.


Step 5.
Assess qualitative factors. This remains to be done.


Step 6.
Select the alternative with the greatest benefit which also supports the organization’s strategic objectives. This remains to be done.
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2.


Flexible
Committed—Fixed
Committed—Step

Construction

X


RNs

X


LPNs


X


Aides


X


Cooks


X


Janitors


X


Other
60%
40%


Debt service

X


Depreciation

X


Physical therapist

X


Recreational therapist

X


Administrative costs

X


LPNs, aides, cooks, and janitors were categorized as step costs since it appears that the number given is needed for full capacity, but for half of capacity or less, half the number of these staff would be needed. No matter what the number of patients, three RNs will be needed since one RN per shift is required.

3.
First, we must calculate the fixed and variable costs for each alternative.


Fixed costs:





Basic Care
Lifestyle Care

RNs

$
90,000
$
90,000


LPNs

132,000
132,000


Aides

120,000
120,000


Physical and recreational




therapists

0
50,000


Cooks

30,000
22,500


Janitors

36,000
36,000


Other

120,000
144,000


Debt service

150,000
200,000


Depreciation

75,000
100,000


Administrative costs


30,000

30,000



Total fixed costs

$783,000
$924,500
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Variable costs:





Basic Care
Lifestyle Care

Other (at 60%)

$180,000
$216,000


÷ Number of patients

÷
50
÷
30

Annual variable cost per patient

$
3,600
$
7,200

a.


Unit Contribution

Package



Patient Type

Margin

Mix
Contribution Margin


PI

$46,000 – $3,600
1
$
42,400



Medicaid

$30,000 – $3,600
4

105,600




Total



$148,000


Break-even packages = $783,000/$148,000 = 5.29



Break-even PI patients = 5.29 × 1 = 5.29, or 6



Break-even Medicaid patients = 5.29 × 4 = 21.16, or 22



Total patients at break-even = 28


b.
Break-even PI patients = $783,000/$42,400 = 18.47, or 19



Since the break-even number is less than half of capacity, it may be possible to reduce fixed costs by one step.



Original fixed cost

$783,000



Less:





3 LPNs

(66,000)





3 Aides

(60,000)





1 Cook

(15,000)





1 Janitor


(18,000)



New fixed cost

$624,000


New break-even PI patients = $624,000/$42,400 = 14.72, or 15


c.


Unit Contribution

Package



Patient Type

Margin

Mix
Contribution Margin


PI

$46,000 – $7,200
3
$116,400



Private Pay

$65,000 – $7,200
1

57,800




Total



$174,200


Break-even packages = $924,500/$174,200 = 5.31



Break-even PI patients = 5.31 × 3 = 15.93, or 16



Break-even private pay patients = 5.31 × 1 = 5.31, or 6



Total patients at break-even = 22
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d.
Break-even PI patients = $924,500/$38,800 = 23.83, or 24



Since the break-even number is more than half of capacity, no adjustment to fixed cost is possible.

4.


Revenue
= Cost of services + Markup × Cost of services




$2,880,000
= $2,016,000 + x($2,016,000)




$2,880,000
= $2,016,000(1 + x)




(1 + x)
= 1.429




x
= 0.429, or 42.9%





Basic Care
Lifestyle Care

Total annual cost (Requirement 3):




Variable costs (40* × $3,600)

$
144,000




Variable costs (24** × $7,200)


$
172,800




Fixed costs

783,000
924,500


Less:




Administrative expenses

(30,000)
(30,000)




Debt service


(150,000)

(200,000)


Total cost of service

$
747,000
$
867,300


Basic Care revenue = 1.429 × $747,000 = $1,067,463


Basic Care price = $1,067,463/40* = $26,687


Lifestyle Care revenue = 1.429 × $867,300 = $1,239,372


Lifestyle Care price = $1,239,372/24** = $51,641


*50 × 0.8 = 40


**30 × 0.8 = 24
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5.
Payback period = Initial investment/Annual cash flow





Basic Care
Lifestyle Care

Cash revenue (from Requirement 4)

$1,067,463
$1,239,372


Less cash expenses:




Fixed expenses*

(708,000)
(824,500)




Variable expenses**


(144,000)

(172,800)


Net cash flow

$
215,463
$
242,072

*Depreciation has been subtracted from expenses because it is a noncash expense.


**50 × 0.8 = 40; 30 × 0.8 = 24




40 × $3,600 = $144,000; 24 × $7,200 = $172,800


Basic Care payback period = $1,500,000/$215,463 = 7.0 years


Lifestyle Care payback period = $2,000,000/$242,072 = 8.3 years

6.
A brief Web search will turn up a number of articles discussing this topic. 
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